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Date

Also see our Worksheets and Walkthroughs video: "Division - Traditional Long Division Algorithm Method Word Problems’

@ 506873 R8

370 | 187543018
- 1850
254
-0
2543
- 2220

3230
- 2960

2701
- 2590

1118
- 1110

8

(5x370)

(0x370)

(6x370)

(8x370)

(7x370)

(3x370)

Remainder -->

Divide, Multiply, Subtract, Bring down, Repeat

Divide 370into 1875 (=5)
Multiply 5 times 370 (= 1850)
Subtract 1850 from 1875 (=25)
Bring down the 4

Divide 370 into 254 (=0)
Multiply Otimes 370 (=0)
Subtract 0 from 254 (=254)
Bring down the 3

Divide 370into 2543 (=6)
Multiply 6 times 370 ( =2220)
Subtract 2220 from 2543 ( = 323)
Bring down the O

Divide 370into 3230 (=8)
Multiply 8 times 370 ( = 2960 )
Subtract 2960 from 3230 ( = 270)
Bring down the 1

Divide370into 2701 (=7)
Multiply 7 times 370 (= 2590)
Subtract 2590 from 2701 ( = 111)
Bring down the 8

Divide 370 into 1118 (= 3)

Multiply 3 times 370 (= 1110)
Subtract 1110 from 1118 (=8)

Done. No more numbers to bring down.

@ 1835839 R116

331 | 607662825
- 331 (1x331)
2766
- 2648 (8x331)
1186
- 993 (3x331)
1932
- 1655 (5x331)
2778
- 2648 (8x331)
1302
- 993  (3x331)
3095
- 2979 (9x331)
Remainder --> 116

Divide, Multiply, Subtract, Bring down, Repeat

Divide331into 607 (=1)
Multiply 1 times 331 (=331)
Subtract 331 from 607 ( = 276)
Bring down the 6

Divide 331 into 2766 (= 8)
Multiply 8 times 331 ( = 2648)
Subtract 2648 from 2766 (= 118)
Bring down the 6

Divide 331 into 1186 (= 3)
Multiply 3 times 331 (=993)
Subtract 993 from 1186 ( = 193)
Bring down the 2

Divide331into 1932 (=5)
Multiply 5times 331 ( = 1655)
Subtract 1655 from 1932 ( = 277)
Bring down the 8

Divide 331 into 2778 (=8)
Multiply 8 times 331 ( = 2648)
Subtract 2648 from 2778 (= 130)
Bring down the 2

Divide 331 into 1302 (= 3)
Multiply 3 times 331 (=993)
Subtract 993 from 1302 ( =309)
Bring down the 5

@ 405533 R549

596 | 241698217
- & (4x596)
329
-0 (0x59 )
3298
- 2980 (5x596)
3182
- 2980 (5x596)
2021
- 1788 (3x5%)
2337
- 1788 (3x5%)
Remainder --> 549

Divide, Multiply, Subtract, Bring down, Repeat

Divide 596 into 2416 (=4)
Multiply 4 times 596 ( = 2384 )
Subtract 2384 from 2416 (= 32)
Bring down the 9

Divide 596 into 329 (=0)
Multiply 0 times596 (=0)
Subtract 0 from 329 (=329)
Bring down the 8

Divide 596 into 3298 (=5)
Multiply 5 times 596 ( = 2980 )
Subtract 2980 from 3298 ( = 318)
Bring down the 2

Divide 596 into 3182 (=5)
Multiply 5 times 596 ( = 2980 )
Subtract 2980 from 3182 ( = 202 )
Bring down the 1

Divide 596 into 2021 (= 3)
Multiply 3 times596 (= 1788)
Subtract 1788 from 2021 ( = 233)
Bring down the 7

Divide 596 into 2337 (=3)

Multiply 3 times 596 (= 1788)
Subtract 1788 from 2337 (=549)
Done. No more numbers to bring down.

Divide 331 into 3095 (=9)
Multiply 9 times 331 (= 2979)
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Done. No more numbers to bring down.




